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PART -1

GENERAL MATHEMATICS

A conical tent can accommodate
77 persons. Each person must have 16m3
of air to breathe. If the radius of the tent
is 7 m then the height of the tent will be

1270/GE ~ GJ/RCE -

| o

1. T WE & AR T2 Fa 77 =i

WS FT Tt B1 qoT TeNE sty <
16 59 WX a1g A sraenar Bt 2 1
& # s 7 e |, W Th! Sard el

(A) 24m (B) 28 m (A) 24 iz (B) 28 et
(C) 26 m (D) 20 m (C) 26 Hiex (D) 20 i
2. In the given figure A, B, C, D is a 2. RAMREFA B, C, DT A R 139
rectangle. It consists of a circle and two s o7 2 T R TAF £ g
semi circles each of which are of radius ' _ ,
5 cm. Then the area of the shaded (R =314 S g
region will be () HFT T 8 1 |
(Use t=3.14)
A A B
(A) 50sq.cm. 45 sq.cm. (A) 50 =i g 1, (B) 45 =0t @ 1,
(C) 43sq. c 40 sqg.cm. (C) 43 wid . (D) 405,
3. Aman trave n a bike from station T e Tt § RyH A QB 1%
Ato B ata speed 30 km/hr. and returns 30 1.1, /a1 Y 1Y & o e @ oy
back at 20 km/hr. Total journey took 20 5.4 /eier ot iy & o eemr 2 |
10 hrs, then the distance between afe gt amn A 10 512 7 81 df Ry
stations A and B is AT B &t e it gt St
(A) 100 km (B) 120 km (A) 10011, (B) 120f% .
(C) 140 km (D) 150 km (C) 1407 . (D) 150f%..
W w1 & foro wam 4
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The average temperature on Tuesday,
Wednesday and Thursday was 37°C.
The average temperature. on
Wednesday, Thursday and Friday was
38°C. If the temperature on Friday was
39°C, then the temperature on Tuesday
will be

(A) 35°C
(C) 37°C

(B) 36°C
(D) 38°C

A reduction of 25% in the price of sugar
enables a person to get 10 kg more
sugar for Rs. 600. Then the reduced rate
of sugar will be

L 4

1270/GE — GJ/RCE ~M

4. TTEER, EER A TR % T i iwd

5.

AHE 37°C 2 91 U, TFIR T HaR
F fai =1 offea A 38°C ® | f YA
F AOAE 39°C B, A FCTER T qToHH

L

(A) 35°C (B) 36°C
(C) 37°C (D) 38°C
AR 3 25 yfeea & fiREe 81 &

600 Ta & 10 Fru. TR ATl
2 | Y TR T T AT I BT

L 2
(A) Rs. 20 per kg Q\ (A) 20 %. gfe ferm.
(B) Rs. 18 per kg ‘ Cb (B) 18%. ufai form.
(C) Rs. 15 per kg é (C) 15 %. ufa famm.
(D) Rs. 12 per kg \Q (D) 12%. wfa femm.
O
The side of a s @creased by 6. Tk T 4 10 whre w1g1 < I 7, @
10% then tl\\iéof square will be 3 e i R wfdwra A gfg Srsmed ?
increased by
(A) 20% (A) 20%
(B) 21% (B) 21%
(C) 22% (C) 22%
(D) 18% (D) 18%
I wE % fore T
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7.

The length of a rectangular field is
seven times its breadth. If the area of
the field be 252 m2. Then the length is

(A) 40m
(B) 42m
(C) 44m
(D) 50m

Split 23 into two parts such that the
difference of the squares of each part
is also 23. Then the two parts are

.-

8
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T STTARR A2 1 e Saeh e &
7 TSRS | AR A #1 Swet 252 ol
W 8, @ s gef |

(Ay 40

(B) 42

(C) 44 Hix

(D) 50 tfex

) 23@6%3%1{%%3@%&
@ [ T SR G 23 B, 1 98 &
s ,

(A) 10,13 N\ *(A) 10,13
(B) 7,16 (B) 7,16
(C) 11,12 * (C) 11,12
(D) 8,15 Q% (D) 8,15
9. A bag contains equ N er of one 9. T ¥l & oam dem § 1 w93, 50 49 qey
rupee, 50 paise a aise coins 25 98 & R €1 af 3 Rywwt @y Fa
respectively. Iffie Yetal value of coing ‘ .
is Rs. 35, the Q. 0f each type of coins I 35 TR R, T e o < e €
will be
(A) 15 (A) 15
(B) 20 (B) 20
(C) 22 (C) 22
(D) 25 (D) 25
% & % fore wom
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10. In 70 litres of a mixture of milk and water, | 10. T 70 e % qu wd U o forerd T urfl
the quantity of water is 10%. How much £ g8 10% % a s'g'ﬁ frar ofter ot
water should be added so that new fv fire foen T B R fyeem § orh w5

Y o b ? : A
mixture may contain 25% of water SRS 25 21 ST ?
(B) 12 litres (B) 12 et
(C) 14 litres (C) 14 &t
(D) 16 litres (D) 16 &iX

11. Two equal glasses filled with mixtures 1. & firemel # srewted
of alcohol and water in the ratio 2 : 1 HFATA A 2: 1 94T 1 ¢ 1319k
and 1: 1 respectively, were emptied into } freTrE % wou o et deR e 3
a third glass. Then the ratio of alcohol and =0 Fen s A < Free 1 eresiEe
water in the third glass will be \o et T 51 S B ‘

(A) 2:3 O (A) 2:3
(B) 3:2 * (B) 3:2
(C)7:6 6 (C) 7:6
(D) 7:5 (D) 7:5

12. Out of 5 boys @'Is a group of 12, TF WiGFiH FRFEA & ¢ 5 TR ©
3 student rmed for a cultural 2 TehRI A A 3 Bl T I S S
plroglramnis\r how many ways, can 2, @ 3 A1 % = R TER ¥ R S
this group be formed, if at least one girl a1 & af 39 S A wH T T @ IS
is to be included in the group ? I ——— '
(B) 22 (B) 22
(C) 24 (C) 24
(D) 25 (D) 25

I & h forg T
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13. The HCF oftwo numbers is 12 and their

difference is also 12, then the numbers
are

1270/GE - GJ/RCE - M

13. A Hemelt w1 wewm guEe 12 2 qup
SR AR o 12 ] o1: 397 QY dead §

(A) 120, 132

(A) 120, 132 (B) 100, 112 (B) 100, 112
(C) 40,52 (D) 84, 96 (C) 40,52 (D) 84, 96
14. How many numbers greater than.5000 14. 3%i3, 4,5, 6, 78 A ey u oiai % wavy
can be formed with four of the digits § Toraelt Yo demt o o et € o R
3,4,5,6,7 such that no digit is to be 5000 @ =€) B g1 g F18 off o7 Y
repeated ? ?
(A) 60 (B) 72 ( . (B) 72
©) 75 (D) 78 . Qg) 75 (D) 78
\0 o
. 1 1 .
15. If2x+3y=5andxy = 3 thenvalu af 2x + By = 5T xy = 5?[,??!8x3+27y3
8x3 +27y3 s ' C. Eak:iE R au|
(A) 95 (B) *&Q (A) 95 (B) 60
() 30 .\l@ () 30 (D) 72
16. Sumoftwon %O.Thefraction 16. 1 weasd w1 9 50 2 | 7R T GEm Ay
obtained by diVidifg the larger number B ve A fArfe ToraT ST 3, a1 Ry
3 E
by smaller number is 5 Then the gm‘zﬁaﬁ% | Y ) g g
numbers are
(A) 35,15 (B) 38, 12 (A) 35,15 (B) 38, 12
(C) .30, 20 (D) 28, 22 (C) 30,20 . (D) 28, 22
% wE & fore wm
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17. If the speed of a car is increased by 17. <& w6 R H R 10 B HE w6

10 km/hr., it takes 18 minutes less to T e, e se A AR w@FR A

cover a distance of 36 km. Then the 18 frFe &0 %1 Tug ot ? ) a FX R
speed of car will be iR TR Bl

(A) 25 km/hr. (B) 30km/hr. - (A) 25 F . (B) 30 TR /u

(C) 35km/hr. (D) 40km.hr. () 35faf./ua (D) 40/

A man travels at the rate of x cm. per 18, wF et x {3, gf B Fi ® A A

18.

19.

" respectively. A

minutes, then how many km does he
travel in y hours ?

Fd, e y ud R Bl Rl
GR

2xy |

(A) 000 K™ ( 5 .

: R

® 50,000 " N, ® 8,000 F-
3

©) Zo06 <™ @ © ottt
Xy V Xy

(D) 5280 km \06 (D) 5280 o0

O
Two trains move tion A and
station B to paCh other at the
speed of S&Ehr. and 60 km/hr.
he meeting point the
driver of the second train felt that his
train has covered 120 km more than first
train. Then the distance between two
stations will be

19.

) YormiiEt VYA A @ B § TF @ A
o ST 50 6. /e aen 60 fh A /g

- R RY I ¥ | O E W e W gEd

YerTidl 3% =T ) W g @ 6 s
Tl YerTre) i T 120 f6. . ST g
T F e ® ) Al OF e & A
gt

(A) 1320 km. (B) 1200 km. (A) 1320 1. (B) 1200754
(C) 1100 km. (D) 960 km. (C) 1100 T, (D) 960 .
% wE & forg e
Space for Rough Work
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20. Amaniswalkingata speed of 10km/hr.
After every kilometer, he takes rest for
5 minutes. Then the time he will take to
cover a distance of 5 km will be
(A) 30 minutes
(B) 40 minutes
(C) 50 minutes
(D) None of the above

1270/GE - GJ/RCE —

20. U qreHt 10 foh. 1. /5 Y 1R § =remen
A A% Fraiet % a1 98 5 fme
fosm 1 R | 3@ 5 B A
A 7 e g w7
(A) 30 fime
(B) 40 fime
(C) 50 fime
(D) 3R & ¥ #1E 7

21. A train travels 450 km in 7 hrs. and 21. TH @S 450 hf Fr gl 7 g
another 740 km. in 10 hrs. Then the : ' AT A 740 .. A 2§ 7
average speed of the train will be ¥ o e 2 | A e ) g

() Huil

(A) 60km/hr. (B) 70 km/hr. ‘\’ (A) 60 fft. /g (B) 70 faft. /s

(C) 75kmihr. (D) 72kmihr. % (C) 75f%.H. /51 (D) 72f%h. /ua
22. Normally, a bus takes 3 hrs. to %9 22. UG UF 99 TR A T B IR 9% SIER:

“city A to city B. One day, du or 3@3;[@%% | O 2 T W

trouble, the bus had to red S8p v d ?ﬁaﬁ%@, M 12%;&/@“@

by 12 km./hr. and, to an hour STl & 2 8 O R 3 o <herd @ s

more than usual he distance T T A AR A T B F wem s

between city A iS.

(A) 100 ka " (B) 120 km. (A) 100 .=, (B) 120 ﬁﬂ:ﬁ

(C) 150 kni\, (D) 180 km. (C) 150 fa . (D) 180 fek .

23. 'The average weight of 17 girls is 20 kg 23. 17 wigiwal =1 3fed wR 20 Rem. @ g
and that of 23 boys is 22 kg. Then the 23 TgH! T oftwa wR 22 ey 2 Ar3w
average weight of the whole class is Fa & woft o 1 sivge Rk
(A) 21 kg (B) 21.25kg (A) 21 Fm, (B) 21.25 R,
(C) 21.15kg (D) 20kg (C) 21.15fmm. (D) 20fm.

% w14 % forw wam

Space for Rough Work
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24.

25.

26.

27.

By selling an article for Rs. 450, a man
loses 25%. At what price he should sell
the article in order to gain 25% ?

(B) Rs. 700
(D) Rs. 800

(A) Rs. 650
(C) Rs. 750

The cost price of 25 pen is equal to the

selling price of 20 pen. Then the gain

percent will be
(A) 15%
(C) 20%

(B) 18%
(D) 25%

A man sells a book at a profit of 209
he had bought it at 20% less a

for Rs. 18 less, he woul% ned
25%. Then the cost pri book is

(A) Rs. 90 @ Rs. 100
(D) Rs. 120

(C) Rs. 80 ’\\'Q

A discount of 16% on the marked price

of a book enables a man to buy a pen

that cost Rs. 80. The amount he paid
for the book is

1270/GE — GJ/RCE - M

24, THARH 450 TAH A TE TeHt
25% 1 g1 Bl } | g o e W

S T 37 oTredt B 25% HT AT B 7
(A) 650%. (B) 700%.
(C) 750%. (D) 800%.
05, 25 HLFA ed 20 W F fowa e &
yftrera B
(}Q 5% (B) 18%
0 (C) 20% (D) 25%

’ 26. TF AR U T&ih I 20% A & =12 |

IR gk 20% FH TW F G 9@ 9
18 TR &0 T o= o9 1 30 AR H 25%
TR, NI FFA IR
(A) 90 T (B) 100 T
(C) 80 ¥R (D) 120 ¥

T R ¥ g § 16% T2 W 8 W
S 80 T F W 39 i @i
A B AT R | A e B wE H

27.

e e ST U ?
(A) Rs. 420 (B) Rs. 480 (A) 420 o (B) 480 T
(C) Rs. 500 (D) Rs. 400 (C) 500 T (D) 400 ¥
@ & o fore wm

Space for Rough Work
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28.

290.

30.

The sum of three numbers A, B and C

2 5
is 98. IfA:B=§ andB:C=§,thenB '

will be
(A) 15
(B) 20
(C) 30
(D) 45

The difference between simple and
compound interest on a certain sum of
money for 3 years at 10% per annum is
Rs. 15 paise 50. Then the sum will be

(A) Rs. 300

(D) Rs. 600

O
2,50,000
increased by

3%, 4% and 6%.i ellast three years,
then the present pépulation of the town

(B) Rs. 400 Q
(C) Rs. 500 \Qé |

1270/GE ~ GJ/RCE - M

28. d wEmstl A, B aur CHavT 98 2 | ufe

A:B= %ws:c: g,ﬁrBTﬂqﬁtﬁﬂT
(A) 15
(B) 20
(C) 30
(D) 45

29. T Fremr qon Ty =™
3 98 T 10% e =1 iy
‘\’ T 50 99 R, o 3 TR Erft

(A) 300 T
(B) 400 T
(C) 500 T9a
(D) 600 F9%

30. Tt e Y Saw 3 9 Ty 2,50,000
o) afe S fUss i ol 3 wag:
3%, 4% T 6% H A I &, A3 i

will be | T e €
(A) 2,68,524 (A) 2,68,524
(B) 2,68,622 (B) 2,68,622
(C) 2,83,868 (C) 2,83,868
(D) 2,83,886 (D) 2,83,886
W wE ¥ e

Space for Rough Work

Set-A
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PART -2

GENERAL KNOWLEDGE

31. The part of earth and atmosphere
supporting life is
(A) Biosphere (B) Biome
(C) Ecotone (D) Biota
32. Deoxygenated blood is carried in
(A) Pulmonary artery
(B) Pulmonary vein
- (C) Aorta
(D) Carotid artery
33. Vaccine against rabies was first

developed by
(A) Jenner (B) Shull
(C) Pasteur

(D) Goror
34. Match List— | with List—1lan ﬁ

correct answer using foll es:
List—1 -1

(Fundamental Partic @ scoverer)
a. Electro hadwick
b. Proton\rQ 2. Anderson
c. Neutron 3. J. J. Thomson
d. Positron 4, Yukawa
e. Meson 5. Goldstein

a b c d e
(A) 3 5 1 2 4
B5 3 2 1 4
€)1 2 3 4 5
D)5 4 3 2 1

N\

32.

34.

1270/GE ~ GJ/RCE - M

AW 7R
. geeft U IRgHUSE 1 W1 S Sl AR
T T B
(A) STRIEHRR (B) =W
(C) 3hIEH (D) s
e TR e R S R S S 7
(A) $oFE it
(B) o
() (

PEEH

e 33 %WWH@W@%Q

(A) SR (B) Ut
(C) =R (D) TRR
Tt — 1R g - 1 & gafem W= R e
£ TEwa ¥ e I afa fif

S i g -1l
(TSI =60T) (arersshTeer)
a. sAFH 1. =efa®

b. WA 2 WEEA
c. JgH 3. 9. . 9w
d. ursiigH 4, JHET

e. Hiam 5. MeswA

a b ¢ d e

(A3 5 1 2 4
B 5 3 2 1 4
€1 2 3 4 5
D)5 4 3 2 1

o wE & forw wm
Space for Rough Work
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35. Who of the following was the author of 35. feeeit 5 @ﬁ HATH! & TR § T
‘Siyasatnama’, a work dealing with the . <.~ R -
institution of slavery during the reign of % g ﬁa i ‘
Turkish Sultans of Delhi ? e Feferfea # d o 7
(A) Hasan Nizami (A) g7 fismft
(B) Nizam-ul-Mulk Tusi (B) Fstgenes gt
(C) Ali Kufi (C) el ht
(D) Minhaj Siraj (D) fre™ st
36. Who of the following Sultan of Delhi 36. 4 @ f5g fioeh goram 3 34
introduced ‘Tanka’ and ‘Jital’ as the T T R ‘Rraet’ S8 1 Rl 5
new coins in Northern India ? () 51 2 : _
(A) ltutamish * . (A) m
(B) Balban (B) Sete
(C) Allauddin Khiji O (C) 3rem3e Raersh
(D) Mohammad Tughiaq * - (D) Y&g FIen
37. Between whom of th g the 37. ﬁmﬁﬁ@aﬁﬁm%aﬁa%ﬁmmg@a@
Battle of Chausa wa ! T ? :
(A) Babur and M ed Lodi (A) 9TeR 3R yEmz A
(B) Babur an (B) sTeR 3R Afeh u
(C) Huma nd Bahadurshah (C) g9 iR sEgwE
(D) Humayun®and Shershah (D) g9R] 3R YR
38. ‘Faujdar’ was the in-charge of 38. e @it # “Herer’ Frffig o @ Ry
administration of which of the following ST N
unit during Mughal period ? W 1 S el o
(A) Pargana (B) Sarkar (A) wur (B) 9=
(C) Suba (D) Thana (C) g=n (D) g
W W % fore v

Space for Rough Work
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39.

40.

What growth rate of GDP is recorded

in first quarter of the financial year

2017-18 in India ?
(A) 6.7 percent
(B) 7.1 percent
(C) 5.7 percent

(D) None of these

Which is not the component of
secondary sector of Indian Economy ?

(A) Manufacturing

(B) Electricity and Water supply
(C) Mining and Quarry

(D) None of these

39.
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g o af 2017-18 & forfig ad & wem
o & v el Ioe # fRaf s
geafEE AT ?

(A) 6.79fawrd

(B) 7.1vfkwra

(C) 5.79fk=rd

(D) ¥ @ FE 7

41, At what price, Government of | 41. TR THR TS freor Jorett & sT=ia

distributes rice to poor people w@%@mwwmm%?
PDS ? '
(A) Rupee 1 perkg . O (A) 1%. vl Rrem
(B) Rupees 2 per k (B) 2%. ufa framm
(C) Rupees 5 (C) 5 %. g frdm™
(D) None of tl& (D) ¥ & I el

42. What was Bonus Distribution Period for 42, FMUET YA S ﬁmahm Toraron <1 arafey
paddy in this state ? T eft ?

(A) 2" Oct. to 16t Oct. 2017 (A) 2 AFREX H 16 IR 2017
(B) 3'dQOct. to 16! Oct. 2017 (B) 3 SRR ¥ 16 TR 2017
(C) 5th Oct. to 16! Oct. 2017 (C) 5 STRER H 16 IFHER 2017
(D) None of these (D) 3 @ g T
W FE o forg wm
Space for Rough Work
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43,

What is “Rural Sanitation Coverage”in

1270/GE- GJ/RCE .

43. 9 3 3 a1 ¥ sy i wre

India wi_thin 3 years ? FRT TR ?
(A) 39 percent (A) 39 gfer
(B) 69 percent ®) 60
(C) 59 percent | (C) 59 Sfase
(D) None of these (D) =5 @ ﬁ? i
44. What is the share of Department of 44 éfézn’ T sfreifier yadT iy Ry
Industrial Promotion Policy (DIPP) in () e R @ 7
‘Invest India’ ? N o
(A) 49% (A) 49 xfose
(B) 43.5% ﬁo (B) 43.5 5w
(C) 51% 6 (C) 51 vftem
(D) None of these, OQ (D) 1 @ A% =
. N
45. Which un %nt rate is more 45, Wﬁﬁﬁﬁﬂlﬂﬁ%%ﬁ@f%?
significant i ia ? A
(A) Usual status unemployment rate (A) W= &Ry sy S8
(B) Weekly status unemployment rate (B) Wi fufty o) =
(C) Daily status unemployment rate (C) 2Fer &y St =
(D) All above (D) 3vg=a wsht
W %1 F fore v
- Space for Rough Work
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Constitutional Amendment.

Provisions related

to citizenship

. Provisions related

to Fundamental
Rights
Provisions related
to Presidential

Election
Provisions related

to Republican

-16- " 4270/GE - GJ/RCE-M

46. Match the following in the context of 46, GRefE gaE ¥ gl § iRt Hifkm |
a. By % i, T & a. 2/, @ BT
majority et Iuay
b. No ii. Thitrr SRR A b, I TEUH T
provisions - IECRCEER
c. By simple iii. frafed  c. wmEwe sgEd g/
majority () g Sueiy
0\‘
d. By % iv. TR e d. 94 SgHd 3
majom%h d o sy e
ificatio & ITgEmdd g

form

* 0 Ore
Q)\ than half

® states

a b c d a b c d
Ay 1 i i v A) i di i v
®) iii i v ®) @i i v
© v i i © iv i i i
@ i dvod @) i v Qi

% w1 & forg wm

Space for Rough Work
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47. How the Deputy Chairman of State

1270/GE - GJ/RCE -

47. U9 faem ufag &1 39 gumafy oY v

Legislative Council is removed from his QA JenT BT ST g 7
office ?
- i. By no confidence motion i. IrfevaTg yeE g
ii. By a resolution ii. T Hehed FT
iii. By a prior notice of 14 days &: $ 9d FemT g
iv. By without prior notice ()Q e g%
*
v. By a majority of council present . V. vﬂ-qg 7 3ufem ofk gdaqE F 9T
and voting Tl % 9gma @
vi. By a majority of all the "@ﬂ% vi. W%Wﬁq@am%a@ai
the council
A i i v
Q@\ B i v v
A | ©) i i wvi
C) i iii vi
D) i i i
(D) i i wvi ©
W w1 % form e

Space for Rough Work
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%
48. Name the person 48. T SAET
i. Who was appointed first Chief i, R 19561 aiy YT 1 Yo TRl
Minister of Andhra Pradesh in 1956. e o T ‘
ii. Who was Speaker of Lok Sabha for i S IR S ¥ R R |
two times.
iii. Once who couldn’t win the election iii. Eﬁ@ﬂﬂn‘gﬂﬁ?ﬂ‘ﬁqﬁ Sfva 7 Wk |
of President.
iv. Second time who was elected iv. S a8 ARy Tgufe g7 T )
President unopposed.
v. Who was not appointed Minister in Q’) $ At g 3 Wi wvea § =l
Morarjee Desai Ministry. ’\ o Froga =& R o
(A) R. Venkat Raman ® (A) 3TR. FFHTOH
(B) N. S. Reddy * (B) @. . &
(C) K. R. Narayanan 6 (C) . AR, TRV,
(D) S.D.Sharma \Q - (D) . €. i
49. On which of ¢he \ig date the 49. frafafaa i @ fra Rl R T S weufa
President oﬁ%x igned the ‘M. P. g e et
Re-organization Act' by which this state - '
ganes y a1, e g1 78 T=a 1 & et ?
came into existence ?
(A) 25 July 2000 (A) 25 [T 2000
(B) 28 August 2000 (B) 28 1&a 2000
(C) 1 November 2000 (C) 1 9awrR 2000
(D) 15 December 2000 - (D) 15 fe"er 2000
W wE & forg T
Space for Rough Work



51.

52.

53.

Which of the following group was
established by Ramchandra
Deshmukh in the field of theatre in this
state ?

(A) Naya Theatre
(B) Sonha Bihan
(C) Bhatra Nat

(D) Chandani Gonda

In this state ‘Bharthari’ is known as
which of the following style ?

(A) Folk Theatre
(B). Folk Song
(C) Folk Dance
(D) Folk Music

In Rajyotsava 2016

Cambodia
) Laos-

(A) Indonesia

(C) Sri Lav(b@(

‘Chakradl'm\rﬁamm'an’;for music for

2016-17 of this state was given to who

of the following ?

*
B ’
of thi she
‘Ramleela’ of which ¢ ollowing
country was pen‘ozm :

50

51

52.

53.

1270/GE - GJ/RCE -

: ivrﬁaé:%aﬁma’ﬁwammm
ﬁm%@aﬁéﬁmw(ﬁ@n)@n
TR TRy 7 '
(A) T Rraex
(B) =1 form
(C) waa 712
(D) T ey

: el AR 5 @ g 1y

q dII TR ?

TA) & a1y

(B) S Tig

(C) &% T

(D) & Gl

T U & TRIqa 2016 # Fetforfa |
ﬁﬁm%&r"ﬁ‘mﬁm’mﬁm%&rw‘
(A) RARmE (B) wr=nfEmn
(C) it (D) wraiyg

39 TSI H1 G & R 201617 = E
T Fefafee 3§ @ B feam e ?

(A) Mamta Chandrakar (A) THET STz
(B) Vinod Kumar Shukla (B) e PRy
(C) Rajkamal Nayak (C) mm
(D) Shekar Sen (D) Yra

W wE % fore wom

Space for Rough Work

Set-A



2 e

62.

63.

64.

In 2017, cultural festival India by Nile
was organised in which country ?

(A) Egypt

(B) Israel

(C) Iran

(D) Afghanisthan

Which of the following is declared best

film in 89th Oscar awards ?

(A) Lalaland

(B) Moonlight

(C) Fans

{D) The Salesman

Asia’s first biosphere res@

(A) Sanjay NationalP

A

eyNNational Park

~

(B) Udanti Sanct
(C) Kanger
(D) Achanak Sanctuary

Giroudpuri Dham is famous for

(A) Pilgrimage of Kabir Panth

(B) Pilgrimage of Satnami Society
(C) Pilgrimage of Vaishnav Society
(D) Pilgrimage of Jain Society

62.

61.

QY

63.

64.

1270/GE - GJ/RCE - M

2017 ¥ Gitpfas Ia 3fean a1 e =1
s e 3w A R 7

(A) e

(B) IR

(C) &M

(D) STEENfa™

80 3 st e G 1 T
T HTE R ?
RIS
e
*C)HH
(D) @ ST

TRt w1 vem S e e v
ToFar T

(A) G TS 3aH

(B) 3Ig=dl IATIRTH

(C) HIR 9T TLF ITH

(D) FTETEFAR AT

Friregh am wfg 8

(A) el Teft ot el e
(B) Gt TS a1 el S
(C) ¥Ura THS T el T
(D) S Hue™ e T

T & % fere T
Space for Rough Work
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65. Outofthe following statement the wrong 65. fimfoiaa o @ war T YT T & 7
one is
(A) In India orographic rainfall mostly (A) 9RE 4§ stfreriere; EEEETECL i
occurs
(B) Most part of the country gets rainfall (B) STt %} et @ 331 % arRrepigy o7y
from Bay of Bengal aui e R ,
(C) Winter cyclones originates from . (C) RE=refA Tsharat ) 3aafy qHe T
Mediterranean Sea- Aa R
(D) Wind move from land to sea in (D) g e & W A o
summer season @;’: '
66.  Which of the following is a winner team @)%mmgmﬁi%uﬁ?ﬁﬁmzm 7 T
of 2017 Mens Hockey Asia Cup ?  * o TR ?
(A) South Korea (A) TRy FifwEr
(B) India O (B) wra
(C) Malaysia ﬁ (C) wefran
(D) Pakistan Q@ ‘ (D) wifram
*
67. Srikanth Kidambi j @yer of which 67. s frarf A 3 @ frm Qe &
of the followin @ ’ Rt 8 7
(A) Tennisg;é (B) Chess (A) ¥ (B) W
(C) Badmint (D) Cricket (C) ssfiren (D) frare
68. Which of the following number of teams 68. f%-3-17 fiea =u & wm 3 ar) A
have participated in F IFA-U-17 World it T Fer 3 @ feah 2 7
Cup? '
) & (B) 12 (A) 8 (B) 12
(C) 20 (D) 24 ©) 20 (D) 24
W &1 % fore wormm

Space for Rough Work
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69. Match the following : 69. 3fa ey sifed :
a. Shankh Ghosh 1. Marathi a g@ = 1. T
b. Radhuvee.r 2. Bengali b, vk ety oS
Chaudhari
c. Balchandra 3. Gujarati c. STerEg AHIS 3. TR
Nemade |
d. Kedamath Singh 4. Hindi o, e 4 R
a b ¢ d c d
A 2 3 1 4 (A 1 4
B 2 3 4 1 3 4 1
€ 3 2 1 4 . '3 2 1 4
© 3 2 4 1 ‘ @’(0)3241
Q) | |
70. Who amongst the following is %‘% 70. = SRF TS T 39 ¥ o e d
of novel One Indian Girl ? Jamd?
(A) Kiran Desai Q (A) Frm i
(B) Vikarm Seth  * O (B) fwm ¥
(C) Chetan Bha a@\ (C) =a T
(D) Amitab@ (D) iy =y
71. Which of the following prize was given 71. frer gast | f= & § S W
to Sidhartha Mukherjee ? ST ?
(A) Hugo award ’ (A) T TEFR
(B) Guardian first book award (B) TR F I TR
(C) Costa book awards (C) FIE Toh TEHR
(D) None of the above (D) I § @ HI 181
IF HE o fore e
Space for Rough Work
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72. The term “Siderosis” means

(A) Excessive deposition of iron in
body

(B) Deficiency of iron in body

{C) Excessive deposition of calcium in
body

(D) Deficiency of ,célcium in body

73.  Arrange the sequence of foods as per
their Vitamin ‘C’ content.

1270/GE - GJ/RCE -

72, “Retfw” waed dme
(A) IR T He-vca =1 R SO

(B)mﬁzﬁ?ﬁa—aavﬁw
(C) TR & R 71 el s

(D) TR & &k & wft

73. 'C' sl TN & SR W @ ge
EZR il “

a. Guava IUEe
b. Amla b. atfaen
c. Orange ¢ ¢ EH@
d. Pineapple O d. Y
(A) a,b,d, c (B) d,»'c% (A) a,b,d,c (B) d,c,b,a
(C) a,b,c,d (D) ng (©) a,b,c,d (D) b,a,c,d
74. Food sources of Vi @Qare 74. faafm B, % e dig §
- a Dairyprodu@& a. 39 uqe
b. Fish ’&@u b. woEh T e
c. Egg :&omtry C. eI ud A
' d. Fruits and vegetables d. %3 w gfsrat
(A) band ¢ (A) bW ¢
(B) a,band ¢ (B) a,bwc
(C) aand d (C) aw d
(D) a,b,candd (D) a, b, cud d
& & % oo v
Space for Rough Work
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75. From which of the following site of the 75. ﬁgmm%mﬁgmm
Indus Valley Civilization the evidence :
of a furrowed field has been found | % R T 9 5L F S
during excavation ? T R ?
(A) Lothal (A) A
(B) Kalibangan (B) fei
(C) Chahundado (C) Tg=
(D) Dhaulavira (D)
76. During 6" Century B.C. the town | 76, 33§ # yfRmty e Prafafaa
Suktimati was the capital of which of 3 £ TgEh @1 ?
the following Mahajanpad ? '
(A) Chedi (B) Vatsa . @ (B) I
(C) Kamboja (D) Sursena \ ©) w=w (D) T
77. During the reign of who of the followi é 77. wrehe @1 § Fefifaa § @ feg it
Parthian king St. Thomas came i " W :
in Ancient times ? T & IR He ST ST S o ?
(A) Menander Q (A) BT
(B) Rudradaman | ’\O (B) ©3EHA WU
(C) Gondophaes @ (C) Tiersd
(D) Kujula K@s (N ERSIESEL
78. Which of the following is a treatise on 78. wm g A frafafen & @ e qfte
Tamil grammar during the Sangam Age ? ST T T TeE o7
(A) Pattinappalai (A) TR
(B) Maduraikanji (B) :@qﬁﬁ
(C) Silappadikaram (C) Rrereafesiy,
(D) Tolkappiyam (D) areTehfoa=y,
T wE o forg wE
Space for Rough Work
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80.

81.

82.

-27-

Who of the following revolutionary had
defined socialism in scientific manner ?

(A) Chandra Shekhar Azad
(B) Bhagat Singh

(C) Bhagavati Charan Vohra
(D) Surya Sen

Which of the following was not the

background of the Quit India Movement ?
(A) The failure of the Cripps Mission

(B) The arrival of Japanese armies on
Indian border

(C) The rising prices and shortage of
food supplies -

(D) The Constitutional breakdowo 1
How many members w %the
Constituent Assemblw d iShed in
1946 ?
’ *
Q 345
&%) 400

(A) 280
(C) 385
Which s&ment is correct about

1270/GE - GJ/RCE

79. Frefoea 3 & Rew wifert 3 wam
ATF T D e off ?
(A) ISRIER AT
(B) wrafts
(C) wrrereht =or
(D) ¥ &=

80. w@@wﬁmaﬁws@ﬁﬁw%f
T T a1 ?
AT Y forepetar
) STl He R ST WSty e

s (C) e i v e Sy B el

(D) "aufiw fymes

81. 1946 ﬁ@nﬁaéémﬁsswﬁﬁaﬁwé

(A) 280
(C) 385

(B) 345
(D) 400

82. Rl referawon & “HR” ¥ grory

“Agriculture’ in Indian Economy ? BT STy e 2 7
(A) Abackbone of the economy (A) el 6 G
(B) Animportant sector of the economy (B) arefomaeer # T HEqUl &5
(C) Major source of livelihood of people (C) <t Y Syt =7 @ S
(D) None of these (D) T8 & =% 7

% w1 & forg wm

Space for Rough Work
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93. Man Booker Prize Winner George 93. T TR TR & fadian ot ared F &
Saunders is a writer of which of the AT IEFE S 7
following country ?
(A) Britain (A) forea
(B) America (B) TR
(C) Germany (C) s
(D) France (D) &
94. In which of the following state | 94. Y@@ R fAd T dfR@e 7
Deendayal port is located ?
(A) Gujarat (A)
(B) Maharashtra ' b
(C) Tamil Nadu . \C)ydhmrrg
(D) West Bengal \(D) afvem s
95. Shashi Shankar is the Chairma@ 95. wif¥t v = o @ fopereh =em & 7
which of the following ? .
(A) N.T.P.C. 6 (A) T,
(B) B.H.E.L. R GERCERE
(C) O.N.G.C. \ (C) TS
(D) None of t».ic@ (D) I § ¥ g I
96. INS Tarasa |S|\nauded in which of the 96. 3E.TA.wH. A i fie # 4 form g A
following force ? e fpar man ?
(A) Armed force. (A) ¥ B
(B) Airforce (B) I1g &
(C) Naval force (C) =
(D) None of the above (D) 3wl H § S 7
% W % forg wam
Space-for Rough Work
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97. Venus satellite was launched by which
' country ?
(A) Russia
(B) France
(C) lsrael
(D) Britain

98. Which of the following mobile app is
developed by Indian Army in 2017 ?

(A) Hamsafar
(B) Hamraj
(C) Surakhsa
(D) Target.

1270/GE - GJ/RCE- M

97. dMa IWIR ®1 yAIW R 3w F g B
Y
(A) &4
(B) i
(C) g
(D) fsr&a

08, T <2017 it & g rrR
A TR ?

(A)

99. I0C declared which of the following as QD% 1 4 & fra 2024 % Neilis TR &

the host of 2024’s Olympic games
(A). Los Angeles *

e w6 6 oo oo . YR ?

(A) wita dsifera
(B) Paris (B) Ifw
(C) Tokyo (C) 3R
(D) New Delhi Q\ (D) ¢ feeht
100. In which of thé@m express way, | 100. F= & @ frw vl & W amdT 3 33
Airforce conducted war rehearsal ? 1 R 7
(A) Agra — Lucknow (A) TR - AEH
(B) Ahmedabad — Badodara (B) JEHTETRE - F&I_U
(C) Jaipur — Kishangarh (C) SR - fhye
(D) Mumbai — Pune (D) g&i§ - U
W & & forg wumw
Space for Rough Work
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125. What is the rank of India in Global 125. afes s:;{g;@'&ﬁ]q-‘. 2017 T 9Rd 1 Y
Hunger Index 2017 ? 27
(A) o7 (A) 97
(B) 99t (B) 997
(C) 100" (C) 10073t
(D) None of these (D) =8 & =1 T
126. What minimum support price for paddy 126. ¥ g a8 2017-18 % fox
is declared by Government of India for OEI W gl e A
the year 2017-18 ? . ()
(A) % 1,500 per quintal \t’ (A) SR Rz 2 1,500
(B) T 1,550 per quintal (B) ¥R fRizet X 1,550
(C) ¥ 1,850 per qumtal * (C) wha fRiewt % 1,850
(D) None of tr:esb (D) T @ s &
N .
127. Which stway for transporting | 127. wwd # agedt 1 uReeT FA ¥ R
goods dia ? e ar T e ?
(A) Railway (A) emri
(B) Roadway (B) geFAT
(C) Waterway (C) S
(D) None of these (D) ¥ @ S
W wE & forg wm

Space for Rough Work
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128.

129.

Fill in the blank.

For the removal of doubts it is hereby
declared that there shall be no
limitations whatever on the Constituent
power of Parliament to Amend by way
of addition, variation or repeal the
provisions of this Constitution under
Article

(A) 162
(B) 241
(C) 368
(D) 370

When a Constitutional Amendm
is sent to state legi
ratification, the bill srwu assed

(A) By simple

by which majority ? g\

(B) By %4 majo
(C) By absolute majority
(D) By 2/3 majority of members present

and voting and more than half
majority of the total no. of house

1270/GE -~ GJ/RCE - M

128. e v Yt yfd Aifdre |

TR Y T A F e 78 Dy e
ST ? 6 ST % ot W
Hfaum & Iusdl w1 aiad, afadT @
e & &9 & w0 & g wag A
Glaerh wivs W et yor w1 Bl 56

Rauill

129, m@mmﬁﬁwmﬁq

% fog v~ Rummves § S s R, @
fererrer form agna @ aRa Sy =i ?

(A) HTURYT SgHT FR

(B) 24 wgma &

(C) Fade =rgwa gw

(D) 3ufe¥a ot waeH HCa™ geal ¥
% wgEa 3 T 6 o Wi ¥
3§ 1 g & T

W & % R e
Space for Rough Work



130. What is correct about the powers: of

Governor ?

i. ‘The existence of such necessity’
to issue ordinance can be
challenged in the court’

ii. ‘The existence of such necessity’

to issue ordinance is not a

justiciable issue

Pardoning power is a subject of
Judicial Review

iv. Pardoning power is not a subject
of Judicial Review

A i v (B) i i

(€ i i (D) ii v N

131.

Office ?
i. He has complete«@
35 years Q
ii. He should pe n of India
lii. He shall any other office
of profit

3 H@eentitled of privileges
The oluments and allowances

-42- 1270/GE - GJ/RCE -

130. TSAUTA Y ufFRE & g d a@ @ d

i sreTewy ST oA 3 fore, ‘Tt e
=1 e & A § g
i, sre ST e ¥ R T e
1 ifr’ R ey e R
g1 TEM FA. Al WifF =AiE I
=1 fowar 2
Y A ) wid =l g
i ?

iii
iv

B) ii
(D) ii

rgufal v < el o fore 3 e gaferd

i.agssaﬁaﬁmq\ﬁﬁtﬁwﬁ
ii. T8 WA 1 AR &
iii. a8 1=y et - % Te W B

iv. 38 frdrier ity S
v. 3g& IgdfRE iR 9o IgH ]

" can not be diminished during his ¥ Ao w0 et e s TR
term of office
(A) i i il (A) i i i
(B) i i v (B) i i v
(C) ii v v () iii v v
D) v v i D) iv v i
@ wd & o wm

Space for Rough Work
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132. What is correct of the following ?

i. The matter related to the
disqualifications of members of
Parliament is considered by the

Supreme Court

ii. The matter related to the
disqualifications of members of

Parliament is considered by the

President with the consultation of

Election Commission

iii. In the Constitution _first chamber is
~ named as Lok Sabha and second

\ .
chamber is named as Rajya SabhaC) :b

iv. Article 103 is related t

disqualifications of n@r of
Parliament O ’

L 4

-43- 1270/GE - GJ/RCE - M

132. fforfea o adt s @ 7
i. HEg gel it i & grefia ye
el =R g o g 9§

ii. TEg gawl Y vt & Tt g
et s 6 ger w Tl g
O
. Q#ﬁmﬁmmaﬁ WNFGT T
IR Teelt Te 1 oa g R A R
TR

iv. 3TTE3% 103 HHE TEWIT ) SHwEr §
e

v. Article 103 | d to the v. Iig=ae 103 Fafe g i spierar @
disqualifica\'@e ore election Trifg 2
A) L AT
B i v ®) i v
C) i v © Qi v
@ v O i v
m‘mﬁ & oo wam
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133. By which of the following name this
state has been referred in the
‘Prayagprasasti’ of Samudragupta ?
(A) Dakshin-Kosala
(B) Uttar-Kosala
(C) Maha Kosala
(D) Sibi Kosala

134. Which of the following dynasty did not

rule over this state during ancient times ?
(A) Sharabhpuriya
(B) Pandu

(C) Nala ¢ \
(D) Maukhari ®

135. Which of the following w e first

capital of Kalchuris |n thi
(A) Ratanpur

(B) Pali @\

(C) Khallari

R

44~ 1270/GE — GJ/RCE -

133, TOwT & TR § @ s
© frafaRes § ¥ fe Tm @ welfa e
27
(A) <fur-Fea
(B) SW-wEw
(C) HEThEe
(D) Tafereprarat

e o Frefafaa 4 @ frg e
e et R ?

Coms

() (C) T

(D) W&l

134.

135. 36 TSa B wergiEl 1 SoH TSEE
Frefafaa § & s off ?
(A) T
(B) et
(C) Tea
(D) g

136. Who of the following was the first | 136. ¥ TS &1 ¥orH HIST IMEh Frafaf
Maratha ruler of this state ? APFaT ?
(A) Bhaskarpant (A) TRTId
(B) Vyankoji (B) T=sh
(C) Bimbaji (C) foamsht
{D) Mahipat Rao (D) wEiua T
@ wE % forg v
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137.  Who of the following police officer of this 137. 30 TS % Tafafags feg gﬁ%m T
state )is bestowed with IAQ_P ﬁmmmﬁm(m
International Association of Chief of - = '
I(:’olice) Award in U.S.A. ? m%im i o) sre &
(A) Dr. Sanjeev Shukla (A) & ﬁ?ﬁaw
(B) .Irfan R. Khan (B) TET 3R, @A
(C) Ajatshatru Bahadur Singh (C) ssTaeTy TETg e
(D) Arif H. Shaikh (D) e
138. Who of the following cricket player of | 138. 17iost g Y wosa %
: h . _
againet Viaiahali RS, QUi Al
match in October 2017 ? Q '
(A) Ashutosh Singh <D (A) Ty fire
(B) Amandeep Khare ‘ é (B) 1dy Wy
(C) Jatin Saxena Q (C) Sifem |erd
(D) Sumit Ruikar O (D) gt s
139. Indra 2017 is B\Q\%ﬂitary exercise: | 139, i 2017 fr § ¥ 5y 30t % me Ty
between vyh f the following A g 2 7
country ? -
(A) India and Germany (A) R iR s
(B) India and Russia (B) 9Rd 37K &4
(C) India and America (C) W 3R fea
iD) None of the above (D) S § g 7
W T @ forg wem

‘Space for Rough Work
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140. Match the following : | 140. 3fya gy R ;
1. Sardar Singh  a. Dhyan Chand 1. T@Er e a o 9
Award ' w'
2. A. Amalraj b D:\:)irachar a
- A Amata) > y 2. T, SIS b. R g
ward
3. Roshanlal c. Arjun Award 3. Tt c. A T
4. Bhupendra d. Rajiv Gandhi 4. gz fm d. Tfa e
Slngh Khel Ratna ™ g{—{zm{
Award
12 3 4 1 2 3 4
(A)d ¢ b a @ c b a
(B)”.dcab O)dcab
C)d b ¢ a O Cdb c a
5 *
D)yd b a ¢ . Dyd b a ¢
141. In2017, which annlversaryof @M 141, 2017 3 9T SIS SARIEH ol e
Movement was celebrate TS TE 7
(A) 25th (A) 25 dff
(B) s0th (B) 50 &t
©) 75th \ (C) 75
(D) 1 @ (D) 1004
142. Who amongst the following is Indias | 142. IMH 4549 g@m‘fm fadas
45 Chief Justice ?
(A) J. S.Khehr (A) . . TR
(B) Deepak Mishra (B) duss Fsn
(C) T.S. Thakur (C) A wE. T
(D) H. L. Dattu (D) TH. . Teq
™ & % o wm
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&EI% 47-
143. “Unstoppable : My life so far” named 143, “mgﬁaa;mmﬁw”mw
book is written by who amongst the R Rt 2 7
following ?
(A) Sunil Gavaskar (A) gie e
(B) Sachin Tendulkar (B) wfem dgee
(C) Maria Sharapova (C) =i wrrmaen
(D) Serena Williams (D) BT faferamg
144. In 2017, who won the U.S. open men’s 144. 37, @. I G faae 2017 i}
single title ? e
(A) Cavin Anderson (A)
(B) Roger Federer
(C) Rafael Nadal \
(D) Andy Murray q ) W’:‘ﬁ:@
145. 9 BRICS nations summit in 2017 w 145, foa gl #1 9 o frew wriem 2017
organized in % gl gat ar ?
~ (A) Brazil (B) R (A) srsfie (B) ¥
(C) India (&j\@ (C) sra (D) =
146. In 2017, Cata.oq@red 146. 2017 ¥ Srerchten 3 T = ot & o
themselves indep jent from which W & T Nt B 7
- of the following country ?
(A) ltaly (A) Te=it
(B) France (B) w1
(C) Spain () ¥
(D) Germany (D) s+f
W & % fore wm
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147. Jogimar cave is located at 147. <viR T 7R ©
(A) Ramgarh (B) Karmagarh (A) TFTE (B) FHTTG
(C) Lafagarh (D) Kotgarh (C) THITE (D) #ieTg
148. Muroom Silli is located on which river ? | 148. Wﬁ'&?ﬁﬁmﬁm@m%?
(A) Mahanadi C(A) TERE
(B) Siliyari Nala (B) frferandy e
(C) Maniari Nadi (C) ufart &
(D) Sondur Nadi @;ﬂ?ﬂ
149. Which glaciers is not located in the [(1437 s¥en Rmm gea e # 7 2 7
Greater Himalayas ? ’\
(A) Gangotri (B) Pindari% (A) T (B) Rver
(C) Siachin (D) Zex (C) R (D) uft
150. Match the followingy 6 150, fr=ffas = gia HIRR
a. Kashmir Him Zoji Lapass a. FYER feAerg 1. Sifsan
b. Kumaun \gya 2. Nandadevi b. Fg femer 2. ereeht
c. Cem&laya 3. Nathula c. #eA fewe™ 3. et <
’\' Pass
d. Lesser Himalaya 4. Shimla d. &g fewre™ 4. Rrean
a b c d b ¢ d
A 2 3 4 1 A) 2 3 4 1
B 1 2 3 4 B 1 2 3 4
(C) 4 3 2 Cc) 4 3 2 1
M 3 1 2 4 M) 3 1 2 4
@ W % forg werm
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ESSENTIAL COMMODITY ACT,
CONSUMER PROTECTION, GENERAL
KNOWLEDGE OF COMPUTER AND

NATIONAL FOOD SECURITY ACT, STATE
FOOD AND NUTRITION SECURITY ACT

151. Central Government has power to
control the rise in prices of food grains

under the following Section of Essential »

Commodity Act 1955
(A) 3A
(C) 4

(B) 3B
(D) 5

152. Which of the following does not fall
under the category of “Essential
Commodity” under the Essential
Commodity Act 1955 ?
(A) Drugs
(B) Oil seeds
(C) Raw Jute
(D) Cotton clothes

1270/GE ~ GJ/RCE - M

PART -3

ey a5y wfafem, suver em e
Halfira WY, ®ree WA e v
T T geen afifem, T we
uﬁm@maﬂrﬁmﬂmmﬂmﬁ
1. HesiT TR Y TTerar o ST 1955
* P am & sata @@ gt ¥
T 3 =TT U T SRR R T

(B) 3B
(D) 5

(A) 3A
) 4

152. sfafrem 1955 & eiqefq
8 Fm e a6 Ao
o Ohgdl AR ?

Q\(:\) sty
(B) foerss

(C) F=1 e
(D) Heft w2

153.  Theorder of confiscation un n6A | 153. Tremes: g iffem 1955 &) ug 6A %
of Essential Commodify 55 not e SRS o e Frerif ¥ R
shall be made for the ' et S
(A) Animal \Q N

: . (A) =1
(B) Vehicle \ (®) T
(C) Vessel
(C) ST
(D) Animal, Vehicle and Vessel ,
(D) 99, Tl qUT TS H ARRY 79
provided .it is proud to the
satisfaction of collector that they are T Tl foban STem <1 7 v
used for carrying essential YRS €9 8 98 Rg 78 fr 3
commodity VIR % &9 8 Iy Rk 9 §
W & & o wem
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154, Treferian 3 & = S deor fe

154. Which of the following does not fall
under the definition of “Appropriate 1986 = Sgfaa ‘“agfem wErTTen
Laboratory” of Consumer Protection ot Ao TR 7
Act, 1986 ? -
(A) A Laboratory recognized by Central (A) T T R FFRIT ST O Sl
Government i
(B) A Laboratory which is recognized (B) T Sl T A T <
by the State Government subject to el R % STgam Ts7 T
Guidelines of Central Government FRI T & 7 R
(C) Any State University Laboratory g sft b feraferener <A sy
(D). None of above O (D) SR A 1S
155. Section 3 of the Consumer Protectrc\gl&S. mﬁw geur ARfEn 1986 # ¢
Act, 1986 is related to Q waift
(A) Definition | O (A) whestremd
(B) Consumer Dispute@ (B) 3niia famg
(C) Constitution o@r Consumer (C) ¥ Iuviveran e uRwe & e
Protectiop CQ ' _
(D) None o@g ve (D) 3 3 g 7l
156. How@ﬁnimum number of times | 156. T Suvier HLE0T GREE hT JEFTH
a State Protection Council should meet ? [T et =Ry ?
(A) Atleast once in a month (A) I UTE ® FH 8 FH TF aR
" (B) Atleast once in a year (B) T o # & FH TH 9
(C) Atleast twice in a year (C) v o # %9 A FH q @R
(D) Atleast thrice in a year (D) vk o & % @ & dF 9N
% &E & fergwam
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SuErT S Tfifiem 1986 H umr 15

157. Under Section 15 of Consumer 157.

Protection Act, 1986 no appeal lies for - % deq R o A &1 Ty T8 er 3

the cases when a person is required to T ¥ R Rt =Rt ) FE ol gy

pay any amount provided e T s & awd B

(A) He has deposited in the prescribed (A) 387 filRa wirn gro 3g Tl =7 30%
manner thirty percent of the amount S e 2

(B) He has deposited in the prescribed (B) 387 Pfta vk gy =g Tfdr &1 40%
manner forty percent of said amount ST fR |

(C) Provided he has deposited in the (C) &4 ffea wfen & s iy =1 509%
manner fifty percent of the amount ST fRa B)

(D) None of above (D) &

158. In which of the following Article of 158. _ T8 9 & e ¥ e
Constitution of India raising the level of > P ety aﬁwﬁmq‘mmmqa‘a":aq
nutrition and standard of living of its &"ﬁn FQ R A e ) quRY %
people and improvement of public
health is given in primary duty of the O 1 eri e 7T R 7
State ?

(A) Article 44 6 (A) ¥rFesz 44
(B) Article 45 \Q (B) =2 45
(C) Article 46 R O (C) 313 46
(D) Article 47 \ (D) sFg=e 47

159. Under the Sec. & Essential | 159. sravas avg siifam & aw 3 3 e
Commodity Act how much interest can T N T A @ R R whem 6
be taken on the recovery amount ? R Y T T 1 T & ?

(A) 10% (B) 20% " (A) 10% (B) 20%
(C) 15% (D) 23% (C) 15% (D) 23%
W wmrE & R v
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160.

161.

162.

163.

Grievance redressal mechanism under
National Food Security Act, 2013 is
given in

(A) Chapter V
(C) Chapter Vii

(B) Chapter VI
(D) Chapter VI

How many members are there in State
Food Commission under Section 16 of
Food Security Act 2013 ?

(A) 3 (B) 4
€5 (D) 6

Provision for Food Security for people

living in remote, hilly and tribal are \ b

given in
(A) Section 27

(B) Section 28 ﬁ

(C) Section 29 Q@

(D) Section 30 O

Undex £ Xod and Nutritional

Sec% 012 which of the following
is not mehtioned as Eligible Household ?

52-
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160. T @iew g AFEm 2013 @

Rrrrra Fawor 4 1 Seora fore oTem
(A) 1= V (B) 1= VI
(C) 3F=ar VI (D) & VI

161. e guan Ifufem 2013 6 aw

Jed TS @I SR ¥ T T §

5 :
. G0, U N S & 4 W IR
% fore v et # - e fom

(B) 4
(D) 6

(A) T 27
(B) T 28
(C) =w 29
(D) =®T 30

T T Td qiSoT e Al |
F aed T aiEr T aiEr’’ q
Jefaa @ ?

163.

(A) Priority Household (A) Tt afER

(B) General Household (B) M= qiER

(C) Anthyoday Household (C) viciiea URER

(D) Household below poverty line (D) T Y & AR v aEw
% wE % oo wm
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164.  Which is not-essential commodities ?
(A) Drugs
(B) Food stuffs
(C) Fertilisers

(D) Books

165. Essential Commodity Act when
enforced ?

(A) 15t April- 1955

1270/GE - GJ/RCE -~ M

164. onawEs axg f s wE T & 7
(A) 3wy
(B) @re werd
(C) Sdwn
(D) forer

165.  3Tre o feiem e wmp gan ?
(A) 1373 1955

(B) 10t April 1955 (B) 102 955

(C) 01 May 1955 955

(D) 01 June 1955 1955

A\ ¢ |

166. Microprocessors are related to which %w@;ﬁ@mwm il O Geftra & ?

generation of computer ?

(A) First generation (A) o i

(B) -Second generation 6 (B) Tacfta it

(C) Third generation Q (C) efta it

(D) Fourth generation * O (D) =rgef diht

7))

167.  Memory unitth Municates directly | 167. as T Yf¥e Y CPU & i dus aam 2

with the CPU is d the FEATID |

(A) Main memory (A) ﬁq Jry

(B) Secondary memory (B) <R T

(C) Auxiliary memory @) STT@TW T

(D) Register (D) (e

% & & foru wemm
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168. A hard copy would prepared on a 168. T e HUl TG 2
(A) Line printer | (A) = B
(B) Dot Matrix Printer (B) <fe Az foret
(C) Plotter (C) =T -
(D) 3w |l

(D) All of the above

169. The impact printers are 169. FHe et @
(A) Dot Matrix printer (A) <ie Az et

(B) Drum printer (B e
(C) Both A) and B) )’ 37R B) At
()@) Ehare Tt

(D) Inkjet printer

*
®
170. Anexample of peripheral equipmen® 170. A IUHTUT T 3T 2

(A) CPU (A) @
(B) Printer é (B) fr

(C) Microprocessor (C) WTERISIHE
(D) Word o (D) =2

171. Ahybm&@& | 171, T TSl FER
e

(A) Re s digital computer (A) Teforeat S @ @ 8
(B) Resemble analogue computer (B). TG SR S T
(C) Resemble both a digital and (C) Tefireet aft Tt HI FHX TH
analogue computer UG
(D) None of the above (D) W # ¥ IS T
& wE % g wem

Space for Rough Work
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172. Abuse messagmg system to send 172.  ayurefig ﬁﬂmw,mm%
unsolicited is
(A) Phishing (B) Spam (A) T (B) W™
(C) Malware (D) Firewall (C) fe@sR (D) wT3arEta
173. A is software program 173, . TR T IR I Uy
used to view web pages 2 ﬁ e |
(C) Browser (D) Link (C) TR (D) fre
174.  An electronic meeting systern is known as | q7a4. e Y3 T 2 )
(A) Tele-officing ( @@TWT
{B) Tele-conferencing . SRR
(C) Tele-banking \C) M-S
(D) Tele-shopping D) éﬁf—sﬁﬁ%
175. What is the full form of DOS in c% 175. W&l § DOS FRE T 7
: law ?
(A) Denial Of Service - (A) feTmeerer o1fe ol
(B) Disk Operating Sysfe (B) T A1Tdfen Ry
(C) Distance Operatu (C) fewd affdn wifm
(D) Denial Ope@stem (D) femerar aifdfen fireem
176.  Recently deleted files are stored in 176. =1 3 4 firere g wger il B §
(A) Desktop (A) Swhera
(B) Recycle bin (B) famswa fom
(C) Taskbar (C) ZreFam
(D) My Computer (D) 3 SR
| W W % fore worm
Space for Rough Work



177.

178.

Power to control production, supply and
distribution of essential commodities is
Essential Commodities Act 1955, as

given in

(A) Section 3
(B) Section 4
(C) Section 5

(D) None of the above-

Any person aggrieved by conﬁsca'gon

can appeal, to a Judicial AuthE\<

appointed by State Govern
how much period ?

(A) One month@ate of
communica e order to him

(B) Two from the date of
atlon of order to him
(C) On month from the date of issue

of order

(D) Two months from the date of issue
‘of order

1270/GE — GJ/RCI

177. navEs: 95g AffEm 1955 % g
HTEvh ST o I, WeH, fon
a0 IRER F @ R ?

(A) & 3
(B) umr 4
(C) a1 5
I # @ i T

bQ foreht srfereeor & erew @ =afd

T wwa H, feet ¥ =i i
T % e e 1), aTda s

(A) TG T AR H I F Th
i

(B) 79 HI T N FHS & A
fiae

(C) srmew 5l B Fi Tl ¥
s .

(D) TR9 T B % ] A7 * Hiw

% wH % forg wm
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179.

180.

Penalties for violation of Essential
Commodity Act 1955 is glven in which
Section ?

(A) 6(B)
(B) 6(C)
©€) 7
(D) 8

Which person is gUilty of contravention
of order under Section 3 of Essential

Commodity Act 1955 ?

(A) A person who attempts to
contravene such order

(B)_ A person who abets a
contravention of such order

(C) (A) and (B) both
(D) None of above

*

&
60 |

179.

180.
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A oy T 1955 ¥ fvg umg

4 srfrfem % seeimm % R wigy w5

YEyE R ?

(A) 6(B)

(B) 6(C)

(C) 7

(D) 8

Hrrr g P

1955 TEd T TR 7
RICIRS e

" (Agasﬁaﬁmmagmm%

O%)asﬁﬁwﬁma@m%%

(C) (A) @ (B) S
(D) 3R § & = 7

181.  The provision for Trial o@s under 181. Trawas avg AfATm 1955 ¥ arquef =7
Essential Commcﬁ\ t, 1955 by iy sreTet Tz w1 e R
Special Courts is’& in R d 7
(A) Section 12 AA (A) 91T 12 AA &

(B) Section 12 AB (B) 9T 12 AB

(C) Section 12 (C) =mr 12 %

(D) None of the above (D) 3R ¥ @ 98 7
W & & fore wom
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182.. Which of the _following is nota member 182. foren susdiwn By ¥ g ) Py
of Selection Committee for ) s
appointment of President of District fore nfda =m wffa 3 o vew T B
Consumer Forum ? ‘ ,
(A) Chief Justice of State High Court (A) T I A % &I A
(B) Secretary to State Government Law (B) Gfva, T=g T fafer
Department ' :
(C) Secretary to State Government (C) \fa, TsaeITg Jusiiel WIe
Department dealing with Consumer AT ¥ afe
Affairs
(D) None of the above (D) I ¥ @ g
183. The maximum punishment for 18 9IRSV, T ST 3T
non compliance of an order made SR
National Consumer Commission, State Q v e % fof A ”3' Tt
Consumer Commission or District . ore o W o7 v w1 wraEH iR
Forum is - ‘ |
(A) Three years or ten thousanc@ o (A) @ Tﬂf ST %, 10 9K
(B) Three years and ten tho&gi s. - (B) M A E. 10 T
(C) Three years and tw @a Rs. (C) i o g %, 2 TR
(D) Three years or sand Rs. (D) = o AYET T, 2 TR
*
184. n of Consumer | 184. Iuviiaar wwew Afufam 1986 % fa
: 1986 National A ;
&s ommission can make % e T . aw
Regulatioh$ ? AT S FHA T 7
(A) Section 29A (A) 9T 29A
(B) Section 30A (B) /0 30A
(C) Section 30 (C) um 30
- (D) Section 29 (D) =T 29
C T &% o T

Space for Rough Work
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185. ' Under the National Food Security Act,

1270/GE - GJ/RCE - M

185. T @ wan wififem 2013 % aq

2013 Nutritional support is envisaged . ‘ 4 .

for which of the following group of iR § 8 v T % et A oo

(A) Children below six months age (A) ©: & § F1 31T T F FTeih
group _

(B) Children between six months and (B) ®: 7 ¥ ®: af qw & Y 9 &
six years age group e

(C) Children between six years and (C) ®: o @ =ee ¥ 7 & a1y R &
fourteen year age group TTelF

(D) All above (D) sy

186. Which of the following is not true about | 186. el % wea § g

“Priority House Hold” ?

(A) Preparation of Guidelines for - I 1 o R f vewE % R
identifying a priority household is *  gnfesf fagi FIXG AT AOTS
provided in Section 10 Q\ b ga o 1038

(B) The Guidelines are to be prepare 0 (B) A mriexlt Rrgia T e g EELN
by State Government » S

(C) State Government to identify%;t (C) TsaTe =1 365 fo7 & Wﬁﬁ Fafy
more than 365 daysud&@' y 4 wriexie Rigidl % @R ¥W W
qousehald s, -, Q) TefRrft @ weeT wm

(D) None of the above \ (D) 3Waa | & 1S T

187. Which wom afvbe head of a | 187. TRM % SRl Ft1 % e frm it =y
household for epare of issue of e 1 gfgn A s g ?

Ration Cards ?

(A) The eldest women in the household (A) T § wad afes wfken

(B) The women who is not less than (B) =% ufeer et oy 18 e dam @
Eighteen years of age '

(C) (A) and (B) both necessary (C) (A) a1 (B) 31 a1ayass @

(D) None of the above (D) 3w & & S 7

W & & forg wem
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188. Under which Section of State Foodand | 188. TS T T TN e AR 20
Nutrition Security Act 2012 provision % frg a0 & dga miadt aun R
has been made for meals free of charge Titenedl & forg fuges e 3g AT
for pregnant and lactating mother ? TR ? .
(A) Section— 2 (B) Section— 3 (A) &/ - 2 (B) g - 3
(C) Section — 4 (D) Section -5 (C) awi - 4 (D) &/ - 5
189. For which of the following household | 189. F=ifa # @ form aREm & fore T
the provision for providing pulse is not ud e AT 2012 & Ted STggsl
made in Schedule | of State Food and A H IEUH TS R 7
Security Act 2012 ?
(A) General Household giER
(B) Anthyoday Household Jciied IiER
(C) Priority Household Q C) wufies aRar
* ¢ 3
(D) None of above :; o (D) SWed # @ B T
190. Under Schedule Il of State Foog aid | 190. T~ Gre wd e AAffEm 2012
' Security Act 2012, how m calories aggf |l f33 698 311'3@;@'3; a5
and protein is necessary fo.efildfen in Rrert el et R Ve 31 ST
the age group of 3t 2
(A) 500 cal. 12¢1 5@1‘1 rotein (A) 500 et 12-15 TH MNIrAC
(B) 400 cal. am protein (B) 400 Fer 12-15 I WA
(C) 500%dl.40"gram protein (C) 500 Hert 10 7™ WA
(D) 80& 0-25 gram protein (D) 800 et 20-25 TSI
191. Under the Essential Commodity Act | 191. 3RS 98] anffam % srwta @
who will report the facts ? " RO w7
(A) Public servant (B) Commonman (A) o GaH (B) T =k
(C) Owner (D) Victim (C) et (D) Hifeq =afx
% w1 & fore e
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192. CPU can directly understand this 192. CPU dien mma?‘r_m
language THATR |
(A) C language (A) Cagfas
* (B) Machine language (B) wei Sgfas
(C) Assembly language (C) sremfsyy defaw
(D) High level language (D) T wad Agfas
193. Which of the following executes the | 193, fafafga 4 @ =) FYR & et ;!ﬁ
computer commands ? e s ?
(A) Arithmetic unit (A)
(B) Logic unit (B) ;
(C) Both A) and B) (C) @ B) 3t
(D) Control unit N (Déﬁ"!ﬁz
.
194. Which of the following produces the LR TOTEN T AT
best quality graphics reproduction ? EREETGI R
(A) Laser printer 6\ (A) B et
(B) Inkjet printer : Q (B) $@aIe frx
(C) Plotter (C) =R
(D) Dot Matrix printer @\ (D) =iz AR=w frx
195. Laser printer belo@ 195. AT firer gaiftrg @
(A) Character printer (A) FhaFr fres
(B) Page printer (B) ¥ fimex
(C) Line printer (C) w13 =
(D) Plotter (D) =i
& w1 % for T
Space for Rough Work

Set-A



196.

197.

198.

199.

200.

Which option is correct to enter the
charts in MS-Excel ?

(A) Formula — chart
(B) Insert —> chart
(C) Data — chart
(D) View — chart

The arranging of data in a logical
sequence is called

(A) Sorting
(C) Classifying

(B) Arranging
(D) Summarizing

What program runs first after computer
is booted and loading GUI ?

(A) Desktop Manager
(B) File Manager
(C) Windows Explorer
(D) Authentication

N

The maximum zo ntage in
MS-Power ppib@

(A) .100% \ (B) 200%
(C) @ (D) 400%

Mecmsm to protect network from

I

-62- 1270/GE - GJ/RC

196. THUH - GRS 8 =1 gaM 1 =
fopeq i 2 7
(A) BIEET — =%
B) 3 —> =
(C) Brr — =
(D) &g — =&

197, efSeRel STgHA A ST i HAEK
_ FEe@E |l
(A) wifdn (B) sifsm

&Wﬁ“ﬂ»ﬁﬂ (D) \HUERT
KC) ‘

GUI o8 89 Td S g B o 91
| g S e ?

! (A) TERT TSR

(B) IS WAL

(C) foem Taa=iX

(D) smrofieRToT

199. wHTE-TTR wrde F srfrwan w@
. R

(A) 100%
(C) 300%

(B) 200%
(D) 400%

200. HTEN ATHHY § A2k HI §AH F

outside attack is 2
(A) Firewall (A) GRRETA
(B) Anti virus (B) Qqﬁargm
(C) Digital signature (C) fefreat farmert
(D) Formatting (D) wrcdifém

% wr & forg
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seT- A~
I ifta TR w1 A 3ue arfireRan 7% : 200
Time for marking answers : 3 Hours Maximum Marks : 200
A :
1. 78 ye-gfeE & f W g -
W-(1) A T 1-30
—(2) AW {H 31-150
qU—(3) STavas aeg AfafEw, IuteRT 151-200

RGO | A AR, HOE A

T WW@WW,WW(@

e e ifafrem @ e s O
e 1 S | 200 5 A P K

2. ywl % ST, R OMRgaz-shz (W—Y@Maﬁﬁq |
3. T I SiRRA R W 1/4 37k @
4. Tt +ft TE % FFereL A1 AT mﬁawmaﬁa% |

5. OMR Fe-lte (37 A T e s A A /A6 Rl 78 s S
3gil Hrg 1 freme i FEREEY 98 TS 8 9 |

Note : @\
1. This Questic@et consists of Parts namely -

Part - (1) Gen€ral Mathematics 1-30
Part—(2) General Knowledge - 31-150
Part—(3) Essential Commodity Act, Consumer 151-200

Protection, General Knowledge of Computer
and National Food Security Act, State Food
and Nutrition Security Act

Each question carries 1 mark. All 200 questions are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.
1/4 mark will be deducted for each wrong Answer.
Use of any type of calculator or log table and mobile phone is prohibited.

S I A R

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not
get torn or spoiled due to folds and wrinkles.



